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The figures in the margin indicate full marks
- Jor the questions

Answer either in English or in Assamese

1. Answer the following questions as directed:

1x10=10

R SR oo PR et o '
(a) What is ‘normal profit’?

“refis are” 72
(b) 1Is there consumer surpluys under first

degree price discriminatiOn?

W M W R Sosren 98

IR ? '
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(¢) Economic rent = Actual earhing -

T——'—

(2)

—

( Fill in the blank )
WWW:&WW———I
- | ( 1R 51 7[99 )

(@) Whatis interna) rate of return?

(e)

@

)

)
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oA e 27 2 2
At ‘Sh_utdow’n point’, average revenue =
average variable cost.
( Write True or False )
"SR TR R, 55 T = 19 R
Al ~ (&% @ R9% frar )

Marginal revenue product = Margi
4 = Marginal
physical prodyct x _p . -

( Fill in the blank )
2feF RP-wr Beomr = afoe RIS Teoqrey
x | ( <08 37 o7t 3097 )
Write the second-order iti
Pareto opfimanty condition of
CRAR oG a8 oRfigs wegh oy |

What is ‘collective bargaining’?

‘@Y AR R 9

tProfit is the Compensation payable
fg er.ltreiareneur for his risk-béaring
nction.” Who made this statement?

S (R ¥ Some 7 T W
Freatar ¥R 1 a2 SRechr o w7
( Continued )

2. Answer the following questions :
TR 2P TS foran -

(a “A competitive firm is a price-taker and

8A/716

(3) \

() What is a ‘group’ under monopolistic

competition?

GRIRER A TS T’ & 9

a monopoly firm is g price-makel‘."
Comment.

oy AT AR T wge e @
oo AfPR T T e 3edte 177 W
f 1 | |

(b) Write two jll.stiﬁcations in favOur of price
discrimination. ‘

7 RS F0F o1 30 3R forey |

() Why do we n.eed to study a separate
theory of distribution?

IR feem 9B TR O% WrER sl
2

(d) Define unpredictable risks with suitable

example.
e FERT FRT GIRET R soic
Sorye- T fi |

2x5=10

( Turn Over )




(4) (5)
(e) Average ann
rage annual profit of ject i «
#50 fiual profit of a project 1s d) “Profit can b . .
proj;(ig(') and the net investment in the @ in - ﬁc~ o eai:ned by introducing
rate of rere . . What is the average of supplying the o
1 ﬁﬁ: tum ©of the project? statenl::niu‘lg goods.” Discuss the
AR 5 3 o1 50,000 51 W b ‘ o
% 250,000 5711 aredr TP Ao G TF T AU RS AP
2R fy i apfed e WA IR o7 SR
' A F4T |
3. Answer aan :
Y four of the , o
-7 of the following quesmonséx4_20 (e) Whether welfare economics is a positive
o CEL e - or a normative science? Give reasons in
@ Expl o wiiRbrR B fordt : support of your answer.
run sug 1;0 ‘would you derive a short- e weRER 1Y SREH ¢ MR-
compeggoy Clifve of a firm under perfect el 7 (O T SHYTS s fn
" 2Ryl
@ %WRE o1 AfSPHI A QI () Write in brief the basic concept of
5 & ot TeRs IR, TR 0 ‘compensation principle’ of welfare.
Xplain + ‘
have a' Why the monopolist does not IR ST ©G'R T YR FIF
Prodyeg Supply curve for his or her R A0
T et
@Wlmm TR e I AT 4. Answer the following questions :
© R, w41 1 o ey s ford
V10N oy .
Cost pr°1y Price is a function of marginal (@) Determine the long-run supply curve of
deman&.PpiBOduction and elasticity of an industry in a perfectly competitive
“ sty Ustrate the statement. market. 10
MR e X7 R R RS o3 o TS 1 TCms Rt
| ROR g5 R 1”7 SfecEr 0 a1 PERT 301
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8A/716 ( Turn Over )

( Continued )




(b)

8A/716

- ent gy,

(6)

Or/ w5z

Explain how wage rate is determined
when there is monopo]_y in the labour
market and perfect competition in the
product market.

A 0 T4 reofan o SR TR

°ﬁ% =, TR T T A

EXPIaJ’n_ how 4 monopolist attains

equilibriv, of price and output in the
long rn,

m%ma@mmm

:l%‘wwwmw, R

Or / &emqy

th;'lng;n the drawbacks of the Ricardian
Modery, of rent. In what respect the

theory of interest is an improve-
°r the Ricardian theory of rent?

10

10

5+5=10

mmmmwwﬁ
ML o™ <&l

( Continued )

(c)

(d)

8A/716

(7)

Discuss the following concepts :
wore TRl YRAICPRO! ST 3y
(i) Pareto optimality in exchange

RS (TR Ty

(i) Pareto optimality in progyction

TeoATT IS CRABH T
Or/ w31

Discuss briefly the net Present value
criterion and internal rate of return
criterion of a project evaluation. Which
one do you consider better anqg why?

B 4T TR WA R T oy e

wm@quf%mm%whww
mﬁwﬁmﬂ@fiaﬁmﬂiwmyl

Write the conditions of prerequisites of
price discrimination by a monopolist.
How does a discriminating monopolist
allocate his outputs in different markets
to charge different prices?

T ;Tﬁ:? Rehmm
oH-TETR ; | 9 ol v
facere TR RISH T3 AR (o o
o TR O TS oy e
RS fica ? '

5+5=10

10

S+5=10
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(8)

.Or / 91

The information of three projects A, B
and Ceach of which has cost of ¥ 60,000.
According to pay-back period method,
determine the rank of the projects. Net
profit before depreciation and after tax

(in ¥) is given below 10

-~

oject|] A B c
Year

6,000 | 10,000 | 13,000
9,000 | 12,000 | 15,000
11,000 9,000 | 16,000
15,000 | 7,000 | 12,000 .

10,000 8,000 —_
— 7,000 —_
01 o A, B wE C ATIRCT AT R
I 60,000 1| efem A MRS PN
SFHEIR T Fefy 91 | Y ST S
o P opEEdR W R (e

S<<IFvs~

fRovre) wore fian 2 -
o A B C
=9 -
I 6,000 | 10,000 | 13,000
I 9,000 | 12,000 | 15,000
i 11,000| 9,000| 16,000
w 15,000 | 7,000 12,000
v 10,000 8,000 —
1% — 7,000 —
* * *
8A—-8000/716 3 (Sem-2) ECOM 1




